业区	LakeCounty Division of Transportation
1	Division of Transportation

Summary of Bids Received

Project: 2023 Crack Sealing - Vernon Road District

Section: 23-00000-04-GM

Description: Crack sealing HMA pavements

CPMS Pin: B-01458 **Let Date:** 3/14/2023

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Denler, Inc.	20502 S. Cherry Hill Road	Joliet, IL 60433	Bid Bond	\$5,672.85	-61.70%	-\$9,138.65
SKC Construction Inc.	P.O. Box 503	West Dundee, IL 60118	Bid Bond	\$9,511.98	-35.78%	-\$5,299.52
Engineer's Estimate				\$14,811.50		
Design	IDOT(2)	Contract Bidder	c	ounty Engineer		
Finance	Bid Tab File	Resident Eng.	N	1gr Capital Prograr	mming	
Construction	Project File	Request By Mail				



Return Bid Tabulation

Project: 2023 Crack Sealing - Vernon Road District

Section: 23-00000-04-GM

Description: Crack sealing HMA pavements

CPMS Pin: B-01458 **Let Date:** 3/14/2023 Crack sealing HMA pavements

Item No. Pay Code	Day Cada	Description			Eng Estimate		SKC Construction Inc.		Denler, Inc.	
	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	45100100	CRACK ROUTING (PAVEMENT)	500.0	FOOT	\$0.20	\$100.00	\$0.01	\$5.00	\$0.01	\$5.00
4	LR400300	BLOTTER AGGREGATE	1.0	TON	\$50.00	\$50.00	\$32.00	\$32.00	\$10.00	\$10.00
5	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$3,000.00	\$3,000.00	\$150.00	\$150.00	\$3,500.00	\$3,500.00
6	XX008129	BACKER MATERIAL	200.0	FOOT	\$0.75	\$150.00	\$0.25	\$50.00	\$0.10	\$20.00
7	Z0004005	FIBER ASPHALT	3,289.0	POUND	\$3.50	\$11,511.50	\$2.82	\$9,274.98	\$0.65	\$2,137.85
		Bid Total				\$14,811.50		\$9,511.98		\$5,672.85



Return Bid Details

Project: 2023 Crack Sealing - Vernon Road District

Section: 23-00000-04-GM

Description: Crack sealing HMA pavements

CPMS Pin: B-01458 **Let Date:** 3/14/2023

Item No. Pay	Pay Code	Description	Quantity	Unit	Eng Estimate			Max. Bid Price	Ava Rid Prico
item No.	ray code	Description	Quantity	Offic	Unit Price	Extnd. Price	Min. Bid Price	IVIAX. DIU PTICE	Avg. blu Frice
1	45100100	CRACK ROUTING (PAVEMENT)	500	FOOT	\$0.20	\$100.00	\$0.01	\$0.01	\$0.01
4	LR400300	BLOTTER AGGREGATE	1	TON	\$50.00	\$50.00	\$10.00	\$32.00	\$21.00
5	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1	L SUM	\$3,000.00	\$3,000.00	\$150.00	\$3,000.00	\$1,575.00
6	XX008129	BACKER MATERIAL	200	FOOT	\$0.75	\$150.00	\$0.10	\$0.25	\$0.18
7	Z0004005	FIBER ASPHALT	3,289	POUND	\$3.50	\$11,511.50	\$0.65	\$2.82	\$1.74
	Bid Total					\$14,811.50			

业区	LakeCounty Division of Transportation
3	Division of Transportation

Summary of Bids Received

Project: 2023 Crack Sealing **Section:** 23-00000-04-GM

Description: Crack sealing HMA & concrete pavements

CPMS Pin: B-01458 **Let Date:** 3/14/2023

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Denler, Inc.	20502 S. Cherry Hill Road	Joliet, IL 60433	Bid Bond	\$214,836.20	-16.88%	-\$43,619.80
SKC Construction Inc.	P.O. Box 503	West Dundee, IL 60118	Bid Bond	\$261,293.90	1.10%	\$2,837.90
Engineer's Estimate				\$258,456.00		
Design	IDOT(2)	Contract Bidder	c	ounty Engineer		
Finance	Bid Tab File	Resident Eng.	N	1gr Capital Prograr	mming	
Construction	Project File	Request By Mail				



Return Bid Tabulation

Project: 2023 Crack Sealing **Section:** 23-00000-04-GM

Description: Crack sealing HMA & concrete pavements

CPMS Pin: B-01458 **Let Date:** 3/14/2023

				Unit	Eng Estimate		SKC Construction Inc.		Denler, Inc.	
Item No.	em No. Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	45100100	CRACK ROUTING (PAVEMENT)	1,000.0	FOOT	\$0.10	\$100.00	\$0.01	\$10.00	\$0.01	\$10.00
2	45200100	JOINT OR CRACK ROUTING (PC CONCRETE PAVEMENT AND SHOULDER)	10,570.0	FOOT	\$0.10	\$1,057.00	\$0.01	\$105.70	\$0.01	\$105.70
3	45200300	JOINT OR CRACK FILLING	37,638.0	POUND	\$2.50	\$94,095.00	\$4.39	\$165,230.82	\$0.10	\$3,763.80
4	LR400300	BLOTTER AGGREGATE	10.0	TON	\$50.00	\$500.00	\$32.00	\$320.00	\$10.00	\$100.00
5	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$180,000.00	\$180,000.00
6	XX008129	BACKER MATERIAL	1,000.0	FOOT	\$0.75	\$750.00	\$0.25	\$250.00	\$0.10	\$100.00
7	Z0004005	FIBER ASPHALT	47,318.0	POUND	\$3.00	\$141,954.00	\$1.91	\$90,377.38	\$0.65	\$30,756.70
		Bid Total				\$258,456.00		\$261,293.90		\$214,836.20



Return Bid Details

Project: 2023 Crack Sealing **Section:** 23-00000-04-GM

Description: Crack sealing HMA & concrete pavements

CPMS Pin: B-01458 **Let Date:** 3/14/2023

Item No.	Pay Code	Description	Quantity Unit -		Eng Estimate			May Bid Drice	Avg. Bid Price
item No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Min. Bid Price	iviax. Diu Price	Avg. Bid Price
1	45100100	CRACK ROUTING (PAVEMENT)	1,000	FOOT	\$0.10	\$100.00	\$0.01	\$0.01	\$0.01
2	45200100	JOINT OR CRACK ROUTING (PC CONCRETE PAVEMENT AND SHOULDER)	10,570	FOOT	\$0.10	\$1,057.00	\$0.01	\$0.01	\$0.01
3	45200300	JOINT OR CRACK FILLING	37,638	POUND	\$2.50	\$94,095.00	\$0.10	\$4.39	\$2.25
4	LR400300	BLOTTER AGGREGATE	10	TON	\$50.00	\$500.00	\$10.00	\$32.00	\$21.00
5	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1	L SUM	\$20,000.00	\$20,000.00	\$5,000.00	\$180,000.00	\$92,500.00
6	XX008129	BACKER MATERIAL	1,000	FOOT	\$0.75	\$750.00	\$0.10	\$0.25	\$0.18
7	Z0004005	FIBER ASPHALT	47,318	POUND	\$3.00	\$141,954.00	\$0.65	\$1.91	\$1.28
		Bid Total				\$258,456.00			